
CHEMISTRY

NCERT - FULL MARKS CHEMISTRY(TAMIL)

CHEMICAL EQUILIBRIUM - I

Problem

1. In the equilibrium reaction 

 the partial pressure of CO2 and CO

are 0.78 atm and 1.22 atm respectively at equilibrium. Calculate

the equilibrium constant

Watch Video Solution

CO2 ( g ) + C ( s ) ⇔ 2CO ( g )

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_42btVuKjRESR


Questions A Choose The Correct Answer

1. In which equilibrium pressure has no effect

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

PCl5 ( g ) ⇔ PCl3 ( g ) + Cl2 ( g )

H2 ( g ) + I2 ( g ) ⇔ 2HI(g)

2SO2 ( g ) + O2 ( g ) ⇔ 2SO3 ( g )

NH4Cl ( g ) ⇔ NH3 ( g ) + HCl ( g )

2. For the equilibrium , the 

values are related as

A. 

N2O4 ( g ) ⇔ 2NO2 ( g ) Kp and Kc

Kp = Kc(RT )

https://dl.doubtnut.com/l/_HR511Gjn83mA
https://dl.doubtnut.com/l/_yHWmQSARS1B3


B. 

C. 

D. 

Answer:

Watch Video Solution

Kp = Kc(RT )2

Kp = Kc(RT ) − 1

Kp = Kc = (RT ) − 2

3. In endothermic equilibrium reaction the increase in

temperature ________________

A. No change

B. Increases

C. Decreases

D. None of these

https://dl.doubtnut.com/l/_yHWmQSARS1B3
https://dl.doubtnut.com/l/_X3beUbkYCLEe


Answer:

Watch Video Solution

4. In the heterogenous equilirbium 

 the  value is given by

A. partial pressure of 

B. activity 

C. activities of 

D. 

Answer:

Watch Video Solution

CaCO3 ( s ) ⇔ CaO ( s ) + CO2 ( g ) Keq

CO2

CaO

CaCO3

[CaO] /[CaCO3].

https://dl.doubtnut.com/l/_X3beUbkYCLEe
https://dl.doubtnut.com/l/_yo1dZus6jUWQ


Questions B Fill In The Blanks

5. For the equilibrium reaction 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

H2 ( g ) + I2 ( g ) ⇔ 2HI ( g )

Kp = Kc

Kp > Kc

Kp < Kc

Kp = 1/Kc

1. In endothermic equilibrium reaction the increase in

temperature ________________

Watch Video Solution

https://dl.doubtnut.com/l/_W8pdqegFOXE2
https://dl.doubtnut.com/l/_YZWypYrmlOeA


2. When the reactant is a liquid which decomposes to gaseous

products. Then the equilibrium is called as______________

Watch Video Solution

3. When reactants and products are in gaseous state, the

equilibrium constant can be expressed in terms of

Watch Video Solution

4. Value of the equilibrium constant is _______ of the initial

concentration of reactants.

Watch Video Solution

https://dl.doubtnut.com/l/_YZWypYrmlOeA
https://dl.doubtnut.com/l/_l9h0TQthdlMM
https://dl.doubtnut.com/l/_o8W3OhWtXYDm
https://dl.doubtnut.com/l/_lTdNy8xLEWui
https://dl.doubtnut.com/l/_4ozCXnuXKzh9


Questions C Match The Following

Questions D Write In One Or Two Sentence

5. According to law of mass action, the rate of a chemical reaction

is proportional to ________ of reactants.

Watch Video Solution

1. 

Watch Video Solution

11. Kp a. homogeneous equilibrium

12. CaCO3 ⇔ CaO ( s ) + CO2 ( g ) b. active mass of reactants

13. Rate of reaction c. irreversible reaction

14. H2 ( g ) + I2 ( g ) ⇔ 2HI ( g ) d. Degree of dissociation

15. C ( s ) + O2 ( g ) → CO2 ( g ) e. KC(RT ) Δn

f. Heterogeneous equilibrium

https://dl.doubtnut.com/l/_4ozCXnuXKzh9
https://dl.doubtnut.com/l/_uG4Sa9adCtn3
https://dl.doubtnut.com/l/_NkYP0xVR7WbR


1. State law of mass action.

Watch Video Solution

2. Write the Kp expression for 

Watch Video Solution

PCl5 ( g ) ⇔ PCl3 ( g ) + Cl2 ( g )

3. Relate  when 

Watch Video Solution

Kp and Kc Δn = 0, Δn = 1, Δn = 2.0

4. Give an example of irreversible reaction

Watch Video Solution

https://dl.doubtnut.com/l/_NkYP0xVR7WbR
https://dl.doubtnut.com/l/_LRHAFHZr70Nb
https://dl.doubtnut.com/l/_TN7w5p1hqKOi
https://dl.doubtnut.com/l/_aVAc6Aoc7T33
https://dl.doubtnut.com/l/_TjJfhMii5tX1


Questions E Explain Briefly On The Following

5. Reason out why equilibrium concentrations remain constant.

Watch Video Solution

1. Differentiate irreversible and reversible reactions.

Watch Video Solution

2. Explain the characteristics of a chemical equilibrium.

Watch Video Solution

3. Write a note on heterogeneous equilibrium reaction.

W t h Vid S l ti

https://dl.doubtnut.com/l/_TjJfhMii5tX1
https://dl.doubtnut.com/l/_QvtovDooAmls
https://dl.doubtnut.com/l/_hEj7ncNnjuEd
https://dl.doubtnut.com/l/_6FoIq5c5B1SC


Question

Watch Video Solution

4. Two moles of  and three moles of  are taken in 

vessel and heated. If the equilibrium mixture contains 0.8 moles

of HI, calculate  for the reaction 


Watch Video Solution

H2 I2 2dm3

Kp and Kc

H2 ( g ) + I2 ( g ) ⇔ 2HI ( g )

5. At  for the reaction  is 4.0. If

the equilibrium concentration of  is 0.5 mol. . What is

the concentration of ?

Watch Video Solution

25∘C, Kc 3C2H2 ( g ) ⇔ C6H6 ( g )

C2H2 lit− 1

C6H6

https://dl.doubtnut.com/l/_6FoIq5c5B1SC
https://dl.doubtnut.com/l/_O0H0WOxrsKBb
https://dl.doubtnut.com/l/_OK1Ke6pu7Xqa
https://dl.doubtnut.com/l/_jVtwpJ6BJo0g


1. In the equilibrium reaction 

 the partial pressure of CO2 and CO

are 0.78 atm and 1.22 atm respectively at equilibrium. Calculate

the equilibrium constant

Watch Video Solution

CO2 ( g ) + C ( s ) ⇔ 2CO ( g )

2. In which equilibrium pressure has no effect

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

PCl5 ( g ) ⇔ PCl3 ( g ) + Cl2 ( g )

H2 ( g ) + I2 ( g ) ⇔ 2HI(g)

2SO2 ( g ) + O2 ( g ) ⇔ 2SO3 ( g )

NH4Cl ( g ) ⇔ NH3 ( g ) + HCl ( g )

https://dl.doubtnut.com/l/_jVtwpJ6BJo0g
https://dl.doubtnut.com/l/_srp5nNoTw7Cv


3. For the equilibrium , the 

values are related as

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

N2O4 ( g ) ⇔ 2NO2 ( g ) Kp and Kc

Kp = Kc(RT )

Kp = Kc(RT )2

Kp = Kc(RT ) − 1

Kp = Kc = (RT ) − 2

4. For endothermic equilibrium, increase in temperature changes

the  value asKeq

https://dl.doubtnut.com/l/_srp5nNoTw7Cv
https://dl.doubtnut.com/l/_9o6YRzhOqmgx
https://dl.doubtnut.com/l/_NMIlFaHuNrfq


A. No change

B. Increases

C. Decreases

D. None of these

Answer:

Watch Video Solution

5. In the heterogenous equilirbium 

 the  value is given by

A. partial pressure of 

B. activity 

C. activities of 

D. 

CaCO3 ( s ) ⇔ CaO ( s ) + CO2 ( g ) Keq

CO2

CaO

CaCO3

[CaO] /[CaCO3].

https://dl.doubtnut.com/l/_NMIlFaHuNrfq
https://dl.doubtnut.com/l/_zRTYfwRFbH6Q


Answer:

Watch Video Solution

6. For the equilibrium reaction 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

H2 ( g ) + I2 ( g ) ⇔ 2HI ( g )

Kp = Kc

Kp > Kc

Kp < Kc

Kp = 1/Kc

https://dl.doubtnut.com/l/_zRTYfwRFbH6Q
https://dl.doubtnut.com/l/_ssviJ9b0dYRn


7. In endothermic equilibrium reaction the increase in

temperature ________________

Watch Video Solution

8. When the reactant is a liquid which decomposes to gaseous

products. Then the equilibrium is called as______________

Watch Video Solution

9. When reactants and products are in gaseous state, the

equilibrium constant can be expressed in terms of

Watch Video Solution

https://dl.doubtnut.com/l/_N17zO4wXCjzT
https://dl.doubtnut.com/l/_7TDcxLegRDgK
https://dl.doubtnut.com/l/_XVLyBKIjkb4q


10. Value of the equilibrium constant is _______ of the initial

concentration of reactants.

Watch Video Solution

11. According to law of mass action, the rate of a chemical

reaction is proportional to ________ of reactants.

Watch Video Solution

12. 

Watch Video Solution

11. Kp a. homogeneous equilibrium

12. CaCO3 ⇔ CaO ( s ) + CO2 ( g ) b. active mass of reactants

13. Rate of reaction c. irreversible reaction

14. H2 ( g ) + I2 ( g ) ⇔ 2HI ( g ) d. Degree of dissociation

15. C ( s ) + O2 ( g ) → CO2 ( g ) e. KC(RT ) Δn

f. Heterogeneous equilibrium

https://dl.doubtnut.com/l/_3XniI2u4jnsL
https://dl.doubtnut.com/l/_Qtp5UNtaoTlc
https://dl.doubtnut.com/l/_2hW8WtZzPkb1


13. State law of mass action.

Watch Video Solution

14. Write the Kp expression for 

Watch Video Solution

PCl5 ( g ) ⇔ PCl3 ( g ) + Cl2 ( g )

15. Relate  when 

Watch Video Solution

Kp and Kc Δn = 0, Δn = 1, Δn = 2.0

16. Give an example of irreversible reaction

Watch Video Solution

https://dl.doubtnut.com/l/_2hW8WtZzPkb1
https://dl.doubtnut.com/l/_kORRXZfDunVg
https://dl.doubtnut.com/l/_UyjtIZZ4b5eP
https://dl.doubtnut.com/l/_pn3VUrrGGqkh
https://dl.doubtnut.com/l/_gi8ymCTsMglp


17. Reason out why equilibrium concentrations remain constant.

Watch Video Solution

18. Differentiate irreversible and reversible reactions.

Watch Video Solution

19. Explain the characteristics of a chemical equilibrium.

Watch Video Solution

20. Write a note on heterogeneous equilibrium reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_gi8ymCTsMglp
https://dl.doubtnut.com/l/_llOSxakbJRem
https://dl.doubtnut.com/l/_gZzxy27eChny
https://dl.doubtnut.com/l/_OYk6BhwG4ke1
https://dl.doubtnut.com/l/_sl82umCToLLL


21. Two moles of  and three moles of  are taken in 

vessel and heated. If the equilibrium mixture contains 0.8 moles

of HI, calculate  for the reaction 


Watch Video Solution

H2 I2 2dm3

Kp and Kc

H2 ( g ) + I2 ( g ) ⇔ 2HI ( g )

22. At  for the reaction  is 4.0. If

the equilibrium concentration of  is 0.5 mol. . What is

the concentration of ?

Watch Video Solution

25∘C, Kc 3C2H2 ( g ) ⇔ C6H6 ( g )

C2H2 lit− 1

C6H6

https://dl.doubtnut.com/l/_sl82umCToLLL
https://dl.doubtnut.com/l/_iTYGXZ873GXN
https://dl.doubtnut.com/l/_Xtv1gJ72OE17

